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Which of the following insect
orders are exclusively
herbivorous ?

(1) Lepidoptera & Hemiptera
(2) Thysanoptera & Neuroptera
(38) Orthoptera & Phasmatodea
(4) Psocoptera & Trichoptera

The  National Bureau of
Agricultural Insect Resource
established by ICAR was earlier
known as :

(1) Bengaluru; PDBC
(2) New Delhi; National Pusa
Collection

(3) Ranchi; Indian Lac Research
Institute

(4) New Delhi; NCIPM

Grasshopper belongs to which
order ?

(1) Hymenoptera
(2) Orthoptera
(3) Diptera

(4) Lepidoptera

Insects are thought to be so very
successful because of
(1) Their small size

(2) Ability to utilize many food

sources
(3) Reproductive potential
(4) Al of these
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For their size, insects are much
stronger than man because

(1) Their muscles are naturally
stronger.

(2) They can control muscle
response more precisely.

(3) They have giant nerve fibers.

(4) Of physical properties related
to their small size.

Family of the Bemisia tabaci is:
(1) Apionidae

(2) Aleurodidae

(3) Pyralidae

(4) Pyrrhocoridae

Which insect order
associated with plants ?

(1) Hymenoptera
(2) Thysanoptera
(3) Hemiptera

(4) Siphonaptera

1S never

Which of these characteristics do
insects and crustaceans have in
common ?

(1) Mandibulate mouth parts
(2) Jointed legs

(3) Open circulatory system
(4) All of these

Mites have pairs of legs
and two distinct body regions.

@ 2
(2) 4
@3 6
@ 3
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In Hymenoptera, the first
abdominal segment which is
fused with metathorax is called

(1) Cornical
(2) Epiproct
(3) Propodium
(4 Gaster

Wingless hexapod with
abdominal segments is

(1) Diplura
(2) Thysanura -
(3) Collembola
(4) Protura

SIX

Antennae are lacking in insect
order

(1) Protura
(2) Collembola
(3) Diptera
(4) Thysanura

Termites have
antenna.

(1) Serrate

(2) Moniliform
(3) Setaceous
(4) Geniculate

type of

Piercing and sucking type of
mouth parts are found in

(1) Grasshopper
(2) House fly
(3) Aphids

. (4) Beetles
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Most of the insects have

abdominal segments:
(1) 6to 7

(2) 8to 9

3) 10to 11

(4) 12t013

In the formation of insect cuticle,
which of the following layer is
secreted first ?

(1) Exocuticle
(2) Endocuticle
(38) Wax layer
(4) Cuticulin layer

Hamulate type of wing coupling
apparatus is found in :

(1) Grasshopper
(2) Butterfly
(3) Bug

(490 Honey-bee

Sucking mouth parts are not
found in

(1) Thrips
(2) Aphids
(3) Whate fly
(4) Ants

Which compound would be found
in the exocuticle but not in the
endocuticle ?

(1) Chitin
(2) Quinine
(3) Protein
4 Wax
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. Aristate antennae is found in

(1) House fly
(2) Honey-bee
(3) Grasshopper
(4) All these

Spongy type of mouth parts are
found in

(1) Grasshopper
(2) White grub
(3) Honey-bee
(4) House fly

Where is the genital opening
found on a typical insect ?

(1) Just above the epiproct
(2) Just below the anus

(3) Between the paraprocts
(4) Inside the tentorium

. In grasshoppers, the sclerite on

the front of the head located
between the frons & the labrum is

(1) Clypeus
(2) Maxilla
(3) Gena

(4) Vertex

The modified hind wings in flies
(used for balance) are called

(1) Elytra

(2) Halters

(3) Hamuli

(4) Tegmina
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Another name for an insect
walking leg is

(1) Ambulatory
(2) Fossorial
(3) Cursorial
(4) Saltatorial

A naiad is best described as a/an
(1) Predatory larva

(2) Wingless adult

(3) Aquatic nymph

(4) Scavenger

To which body segment the elytra
are attached ?

(1) Mesothorax
(2) Prothorax

.(8) First abdominal

(4) Metathorax

Which mouth parts lie between
the labrum and the maxillae ?

(1) Hypopharynx
(2) Labium

(3) Mandibles
(4) Palps

Chitin is most abundant in which
part of the exoskeleton ?

(1) Epicuticle
(2) Cuticulin layer
(3) Procuticle
(4) Epidermis
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To which body segment are the
halters attached ?

(1) Mesothorax

(2) First abdominal
(3) Prothorax

(4) Metathorax

Which structure(s) would be
found on an insect’s pretarsus ?

(1) Trochanter
(2) Furca

(3) Empodium
(4) All of these

The pedicel is the name for the
(1) 1¢tleg segment

(2) 1+t antennal segment -

(3) 2vd Jeg segment

(4) 20d antennal segment

The shell of an insect’s egg is
called the

(1) Serosa
(2) Chorion
(3) Amnion
(4) Periplasm

What is the function of the
micropyle in an insect’s egg ?

(1) Water balance
(2) Nutrition
(3) Respiration
(4) Sperm entrance
03
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What is the maximum number of
ocelli that may be found in an
adult insect ? .

(1) Zero
(2) Three
3) Five
(4) Twenty

Chitin is a very important part of
the insect’s exoskeleton because

(1) Itis impermeable to water.

(2) Itis rigid and inflexible.

(3) It is not digested by common
enzymes.

(4) It is flexible and elastic.

Which part of the exoskeleton lies
between the wax layer and the
cement layer ?

(1) Exocuticle

(2) Endocuticle
(3) Cuticulin layer
(4) None of these

Meta legs of worker honeybee is

(1) Antenna cleaner
(2) Silk secreting
(3) Cursorial

(4) Pollen collecting

Chewing mouthparts are not
found in

(1) Thrips
(2) Crayfish
(3) Millipedes
(4) Bees
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. How do most insects respire ?

(1) Through skin

(2) Through gills

(3) With the help of lungs

(4) Through a tracheal system

Arachnids and insects contain

malpighian tubules as organs of
(1) Respiration

(2) Excretion

(3) Digestion

(4) Secretion

Crushing of food in insects is
done by :

(1) Rectal papilla
(2) Green cells
(3) Proventriculus
(4 Crop

Which type of special
reproduction is found in aphid ?
(1) Polyembryony

(2) Paedogenesis

(3) Parthenogenesis

(4) Viviparity

The nervous system of insects is
derived from

(1) Ectoderm
(2) Mesoderm
(3) Endoderm
(4) None of these
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Insects that become sexually
mature and produce offspring
before they molt into adults are
said to be

(1) Embryonic
(2) Parthenogenic
(3) Paedogenic
(4) Viviparous

Juvenile hormone is secreted by :
(1) Thoracic glands

(2) Corpora allata

(3) Corpora cardiaca

(4) Neurosecretary cells

The type of parthenogenesis
where only males are produced is

(1) Arrhenotoky
(2) Amphitoky
(3) Thelytoky
(4) None of these

Complete
found in

(1) Cricket
(2) Butterfly
(3) Bugs

metamorphosis  is

. (4) Aphid

The most important excretory
product in terrestrial insects is

(1) Uric Acid
{(2) Ammonia
(3) Amino Acids
(4) Urea
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Protocerebrum supplies nerves to
(1) Compound eyes

(2) Antennae

(3) Mouth parts

(4) Wings

Accessory glands are modified as
“milk glands” in

(1) Glossina

(2) Honey-bee

(3) Chironomid larva

(4) Strepsiptera

Hyper metamorphosis is observed
n

{1) Blister beetle

(2) June beetle

(3) Weevils

(4) Hover fly

Foregut is also known as
(1) Stomatodeum

{2) Mesenteron

{3) Proctodeum

(49) Hypopharynx

Mosquito males locate females by
using

(1) Scolopophorous sensillae

(2) Campaniform sensillae

(8) Tympanum

(4) Compound eyes

. Ametabolous insects are :

(1) Predatory

{2) Wingless

{3) Endognathous
{4) All of these
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A line of weakness between
adjacent sclerites that breaks
during molting is called a

(1) Apodeme

(2) Ecdysial suture
(3) Apophysis

(4) Epistomal suture

In an ant nest, all workers are
(1) Adult males

(2) Immature males

(3) Adult females

(4) Sterile females

In most insects, the sense of
smell is localized in the

(1) Tarsi

(2) Antennae

(3) Maxillary palps
(4) Frons

Any chemical used to repel
predators would always be
classified as a/an

(1) Pheromone
(2) Hormone
(3) Synomone
(4) Allomone

Insects that share a common nest
site but do not care for their
young ones are said to be

(1) Quasi social
(2) Semi social
(3) Communal

(4) Solitary
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. Which insects do not feed on

plants ?

(1) Thrips
(2) Whiteflies
(3) Lacewings
(4) Sawflies

If an insect’s sub-esophageal
ganglion is paralyzed, it would be
unable to

(1) Eat
(2) See
3) Fly
(4) Walk

Immature stage of beetle is
termed as

(1) Larva
(2) Caterpillar
(3) Grub

_ (4) Maggot

The alimentary canal of insect is
derived from

(1) Ectoderm

(2) Ectoderm & endoderm
(3) Ectoderm & mesoderm
(4) None of these

. Foregut is lined internally by

(1) Peritrophic membrane
(2) Epithelial membrane
(3) Intima

(4) Taenidia
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Economic threshold level 1is

always

(1) Lower than Economic Injury
Level (EIL)

(2) Equal to EIL

(3) More than EIL

(4) Reached when severe damage

i8 done

If equilibrium population level of
a crop damaging insect is above
the economic injury level, it is a

(1) Key pest

(2) Not a pest
(3) Sporadic pest
(4) Regular pest

In order to be most effective
control measures aimed at killing
an insect-pest should be directed
to attack:

(1) Egsg

2 Grub

(3) Pupae

(4) Adult

Which one of the following truly
diagnoses the infestation by the
sorghum shoot fly ?

(1) Formation of ‘dead heart’ in
the early seedling stage of
sorghum which can be easily
pulled out.

Formation of ‘dead heart’ and
a bunchy top during the later
seedling stage of sorghum.
Formation of ‘dead heart’
which cannot be easily pulled
out during the later seedling
stage of sorghum. -
Formation of silvery shoot
during the early seedling
stage of sorghum.

2)

3

(4)
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70. Indiscriminate use of pesticides

and cultivation of high yielding
crop varieties often leads to
(1) A minor disease or insect

pest problem  becoming
serious threat
(2) Destruction of natural

enemies of pests

(3) Appearance of pesticides
resistant pest strains
(4) All of these

Insects feeding on plants of
several genera within a family
are called

(1) Phytophagous

(2) Polyphagous

(3) Oligophagous

(4} Monophagous

Light trapping of insects is done
in the

(1) Cultural methods
(2) Legal methods

(3) Mechanical methods
(4) Preventive methods

Maize stem borer hibernates in
which stage ?

(1) Egg

(2) Larva

(3) Pupa

(4) Adult

Name the insect which can
survive at higher temperature
and low humidity.

(1) Khapra beetle

(2) Rice weevil

(3) Rust red flour beetle

(4) Angoumois grain moth
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Name the insect, which is known
as oligophagous pest.

(1) Pink bollworm of cotton
(2) Brinjal lacewing

(8) Grasshopper

(4) Cabbage butterfly

Which one of the following insect
is a gregarious pest ?

(1) Sorghum shoot fly
(2) Spotted bollworm
(3) Migratory locust
(4) Rice caseworm

The damaging stage of cotton
Jassid is

(1) Caterpillar and Nymph

(2) Nymph '

(3) Caterpillar

(4) Nymph and Adult

The density of pest population at
which control measures should be
applied :

(1) GEL
(2) PBL
(3) EIL
@ ETL

Most sex pheromone trap attracts
(1) Female moths

(2) Caterpillars

(3) Male moths

(4) None of these
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. Study of

The beetle Zygogramma
bicolorata, introduced for the
control of congress grass weed,
but it was also found feeding on

(1) Sunflower
(2) Cauliflower
(3) Soybean
(4) Mustard

Methyl eugenol is a food

attractant for

(1) Saw fly

(2) Eyefly

(3) Banana fly

(4) Oriental fruit fly

The insects which feed on living
plants are called

(1) Herbivores
(2) Carnivores
(3) Omnivores
(4) Scavengers

group organisms
associated as a unit is called as

(1) Autecology
(2) Bio-ecology
(3) Synecology
(4) None of these

. The eco-friendly insecticide is

(1) Malathion
(2) Nimbicidine

(3) Imidacloprid

(4) Permethrin
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Use of resistant varieties in the
IPM is an example of

(1) Legal control

(2) Chemical control

(3) Biological control

(4) Cultural control

The relationship between
economic threshold level of pest
and market value of the produce is
(1) Negative (Inverse)

(2) Positive (Direct)

(3) Both (1) & (2)

(4) None of these

Any manipulation of environment
intended to reduce the pest
numbers is referred to as

(1) Ecological control

(2) Ecosystem.control

(3) Bio-intensive control

(4) Habitat manipulation

An example(s) of a relative
method to assess economic
threshold levels for an insect pest
is

(1) Number of insects per leaf

(2) Number of insects per plant
(3) Number of insects per twig
(4) All of these

. The equilibrium level in an insect

population :

(1) Is the point at which insects
can begin to migrate

(2) Refers to fluctuations in the
population around a mean

(3) Is important in determining
pest status

(4) All of these
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i 91,

independent mortality factors in

insect populations are

(1) Predators, parasitoids, and
pathogens.

(2) Predators, chemical
insecticides, and intraspecific
competition.

(3) Chemical insecticides,
hurricanes, and temperature
extremes (i.e., hot and cold)

(4) Chemical insecticides,
flooding, and intraspecific
competition.

Pest outbreaks tend to occur
when

(1) Crops are planted 1in
monoculture.

(2) Natural enemies are
imported from abroad.

(3) Farmers switch to new crops.
(4) All of these

. Which sampling strategy is best

suited for insects that live in the
soil ?

(1) Sex pheromone trap
(2) Sweeping

(3) Berlese funnel

(4) Light trap

. As human consumers become less

tolerant of insect damage on
fruit, the economic thresholds for
fruit pests are likely to

(1) Increase

(2) Remain the same
(3) Decrease

(4) No way to tell
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When predator changes its
search image in response to a
change in the density of prey, it
exhibits a :

(1) Conditioned response

(2) Functional response

(3) Numerical response

(4) None of these

Which of these is a primary
ecological event ?

(1) Competition
(2) Parasitism

(8) Immigration
{(4) None of these

Which of these is an example of a
Mullerian mimic ?

(1) A bee that looks like a wasp
(2) A fly that looks like a bee

(3) A katydid that looks like a
leaf

(4) A caterpillar that looks like a
snake

____ is the most important
physical factor which effects the
life of an insect.

(1) Temperature
(2) Humidity
(3) Light

(4) None of these

The competition within the
individual of a species is called

(1) Intra-species competition
(2) Inter-species competition
(3) Multispecies competition
(4) None
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The interaction in which both
species are benefited is called as

(1) Positive interaction
(2) Negative interaction
(3) Commensalisms

(4) Symbiosis

Natality is
(1) Birth rate
(2) Death rate

(3) Rate of increase in size
(4) None of these

Living place of an individual 1is
called

(1) Habitat

(2) Niche

(8) Environment

(4) Species

Functional role of an individual
in the community is called as

(1) Habitat

(2) Niche

(3) Emnvironment
4) Pop{llation

The type of diapause which occur
in winter

(1) Hibernation
(2) Aestivation

(3) Dormancy

(4) Quiescence
Citrus  greening  virus 1is
transmitted by

(1) Aphid, Toxoptera citrida

(2) White fly, Bemisia tabaci

(3) Aphid, Pentalonia nigronervosa
(4) Psyllid, Diaphorina citri
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Which of the following is a vector
for Banana streak disease ?

(1) Thrips

(2) Caterpillar
(3) Mealy bug
(4) None of these

are account for the
transmission of more than 50% of
the insect-vectored viruses.

(1) Mites

(2) Caterpillar

(3) Aphids & Jassids
(4) Beetles

Unique feature(s) contribute to
the success of aphids as vectors of
plant viruses

(1) Polyphagous nature for some
aphid species that allows
them to feed on a wide range
of plant hosts.

Abihity to undergo
parthenogenetic reproduction

Possession of a needle-like
stylet capable of piercing
plant cell walls and delivering
viruses into a host cell

(4) All of these

@

3

Leaf curl of tomato is a virus
disease transmitted by

(1) Jassids

(2) Aphids

(3) Leathopper
(4) White fly
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109. Leaf curl of chilli is a wvirus

110.

111.

112,

113.

114.

disease transmitted by
(1) Jassids

(2) Aphids

(3) Leathopper

(4) White fly

Little leaf of Brinjal caused. by
Phytoplasma is transmitted by
(1) Jassids

(2) Aphids

(3) White fly

(4) Leafhopper

Replication and movement of
virus occurs through

(1) Epidermal cells

(2) Plasmodesmata

(3) Phloem vessels

(4) Xylem vessels

Stylet-borne viruses are

(1) Non-persistent

(2) Circulative

(3) Persistent

(4) Propagative

Bunchy top of Banana is

transmitted by

(1) Bemisia tabact

(2) Pentalonia nigronervosa

(3) Myzus persicae

(4) Aphis gossypii

Swollen shoot of

transmitted by

(1) Pentalonia nigronervosa f. sp.
caladit

(2) Pseudococcus njalensis

(3) Nephotetiix cinciiceps

(4) Aphis craccivora

cocoa 1S
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Groundnut bud necrosis virus is
transmitted through

(1) Thrips

(2) Aphids

(3) Leaf hoppers
(4) Whitefly

Leaf curl of tomato is a
geminivirus whose nucleic acid is
made up of

(1) RNA

(2) DNA

(3) RNA and DNA
(4) ssRNA

Papaya ring spot virus is a non-
persistent virus transmitted by

(1) Toxoptera citricidus
(2) Myzus persicae
(3) Bemisia tabaci
(4) Cuscuta reflexa

Nematode transmitting grape fan
leaf virus is

- (1) Xiphinema index

119.

(2) Longidorus
@) Trichodorus
(4) Heterodera

Silk is made by the silk moth in
which stage of its life cycle ?

(1) Egg

(2) Caterpillar

(8) Pupa

(4) Fully grown moth
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The higher LD 50 value indicate
the following :

(1) Less foxic

(2) Highly toxic
(3) Neutral

(4) None of these :

The sting of a honey-bee is
modified

(1) Galea

(2) Hind leg
(3) Ovipositor
(4) Mouth parts

Lacisa

(1) Resinous matter
(2) Liquid matter
(3) Solid matter

(4) None of these

Eri Silkworm is reared on
(1) Mulberry

(2) Coconut

(3) Castor

(4) Banana

Which of the following type of
mouth parts is found in honey-
bee ?

(1) Chewing & biting type

(2) Piercing & sucking type
(3) Chewing & lapping type
(4) Rasping & sucking type
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Central Sericulture Research and
Training Institute is located at
(1) Bengaluru

(2) Mysore

(3) Ranchi

(4) Bhubaneswar

Which of the following are useful
insect(s) ?

(1) Leaf miner

(2) Predators

(3) Vectors

(4) Borers

Silkworm belongs to family
(1) Bombycidae

(2) Noctuidae

(3) Pyralidae

(4) Sphingidae

Insects are considered to be
beneficial because they are

(1) Effective pollinators

(2) Make useful products

(3) Act as biological control agents
(4) All of these

Honey-bee caste determination is

(1) Age related and regulated
genetically and hormonally

(2) Regulated by photoperiod
and temperature

(3) Determined by pesticides in
the environment

(4) All of these

The honey-bee waggle dance
conveys information about the
location of nectar sources to other
worker bees in the hive. Which of
the following senses do worker
bees use to interpret the dance ?
(1) Sight

(2) Smell

(3) Taste

(4) Touch
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* 131. Which insects are most likely to

pollinate foul-smelling flowers ?
(1) Hover flies

(2) Honey bees

(38) Carrion beetles

(4) Stink bugs

The major differences between
European and Africanized honey
bees are '

(1) Physical (size)

(2) Behaviour (aggressiveness)
(3) Ecological (habitat)

(4) All of these

The fertilized female of lac insect
lays eggs ranging from

(1) 100-200

(2) 200-500

(3) 500-700

(4) Less than 100

The gland which produces
pheromones in queen honey bee
1s

(1) Mandibular glands
(2) Maxillary glands
(3) Labial glands

(4) Tharyngial glands

Which of the following produces
more lac, & is important for
commercial production ?

(1) Male

(2) Female
(3 Nymph
(4) All of these
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Which of these have historically
caused extensive damage to
crops ?

(1) Butterflies
(2) Cockroaches
(3) Beetles
(4) Locusts

Amongst the following insects,
which one is monophagous ?

(1) Spodoptera litura
(2) Spilosoma obliqua
(3) Bombyx mori

(4) Bemisia tabaci

Basic unit of classification is
known as

(1) Species
(2) Genus
(3) Family
(4) Order

Who is often referred to as the
‘Father of Animal Classification’ ?

(1) Aristotle

(2) Carolus Linnaeus
(3) Wallace

(4) Hugo de Vries

Give the name of a family of
order Hymenoptera which
include crop pests.

(1) Tenthredinidae
(2) Ichneumonidae

- (8) Braconidae

(4) Apidae
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Order Odonata includes
(1) May flies

(2) Dragon flies

(3) Stone flies

(4) Shade flies

Pest of sorghum belonging to
order Diptera :

(1) Chilo partellus

(2) Rhopalosiphum maidis
(38) Bagrada cruciferarum
(4) Atherigona soccata

The members of this family are
egg parasitoids :

(1) Braconidae
(2) Bethylidae
(3) Chalcididae
(4) Trichogrammatidae

The insect pest which got
introduced into our country
before the enforcement of
quarantine measures 18

(1) Anthonomis grandis
(2) Oxycaraenus laetus
(3) Icerya purchasi

(4) Gnorimochema heliopa

Directorate of Plant Protection,

Quarantine and Storage is
located in

(1) Gurgaon

(2) New Delhi
(8) Faridabad
(4) Ghaziabad
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Which of the following order
comprises predaceous insects ?

(1) Neuropteran
(2) Phasmida
(3) Isoptera

(4) Lepidoptera

Which of the following order has
pupal stage only in males ?

(1) Dactyoptera
(2) Isoptera

(3) Orthoptera
(4) Strepsiptera

Which of the following is a
neuropteran predator ?

(1) Chrysoperla
(2) Cryptolaemus
(3) Scymnus

(49) Brumus

First insecticide resistance in
agriculturally important insect in
India was observed in

(1) Singhara beetle

(2) Chilli thrips

(3) Diamond back moth
(4) Cotton white fly

. Semiloopers belong to the order

(1) Lepidoptera
(2) Coleoptera
(3) Isoptera
(4) Diptera
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